K°RSEN

Low Speed High Torque Orbital Hydraulic Motors
(R K ARG S ik

SMS Series
Technical
Information

SMS R 51k

Jining Kersen Hydraulics Co., Ltd. e cso) 537 263513812613777 Fax: (86) 537 2613277

/;IC ?%’I‘;T\ ﬁ/ﬁigﬁ PR 2 7] Tel: (86) 537 2635138/2613777 Fax: (86) 537 2613277
2014-10



K O BSE“ SMS Disc Motors

SMS FERC IR ik

SMS Series .
* Design Features
SMS £ 7%1 SH AR A

*Roller bearings permit high radial loads

A FRB Ty IE R EAME R R, e
SR B4R R Jy5E

sUse high pressure capacity shaft seal

o R FH i e s Al 2

*Wide variety of mounting flanges, shafts,
and displacement provides design flexibility
W] FOUHIEREA R W e dke i, i, HEE
&, N RBEE SR IR )
+Direction of shaft rotation and speed can be
controlled easily and smoothly

o 11 P A A s R T 7 i R i
+Best combination of efficiency and
economy in medium duty applications

* Specification Data o TP AR Ik BRI 5, AL I8 Bl
- A EE

. Bz

Max.Speed Continuous 799 739 575 477 385 308 246 191 153

(63> )

Intermittent

. 908 924 719 713 577 462 365 335 230
(FEE

o
it
&
1

Torque N.m Continuous 195 245 315 380 455 555 560 700 845

(%

55 Intermittent 355 395 505 530 625 765 805 890 930

(FEHE)

Maximum Case Pressure -- Without Case Drain (R#Es st O, ShgAXFXRTEH) ---80Bar

2014-10



SMS Disc Motors

Max. pressure is the allowed pressure at the inlet port. Rated pressure is the
working pressure difference between inlet and outlet port.

A simultaneous maximum RPM and maximum pressure NOT recommended
Maximum pressure or maximum RPM operation: 10% of every minute

Recommended fluids: Anti-wear type of hydraulic oil. Viscosity recommended
37-73 cSt. Recommended filtration 1SO18/13. Maximum operating
temperature recommended 80°C

Special high pressure capacity shaft seal ensures back pressure up to 8
Mpa. Recommended preferable back pressure 5 Mpa. Case drain line is
recommended when back pressure higher than 5 Mpa. When case drain line
is used, make sure the motor is always filled with oil. The motor life is
benefited from a case drain line.

Itis highly recommended that the motor runs at 30% of rated pressure for at
least one hour before application of full load. Be sure the motor is filled with
fluid prior to any load applications.

* SMS Series Motor Performance Data
SMS 1| ik HERES AL

ARG AU ik

ANHELE I Sy G ik ikl O VPRI S, SR
JIFR I L AR ) 2

o T RO SRV [R] I e K SR 35 K R ) ) T R A P
AHELHEAT T - 15 L IAAE M T 0 N BB T A
i$10%

AR R K 37-73cSt i MENS A 1S018/13, %
2t I i AN 80°C

ol 0] K 2 8Mpalffi 15 i, HERE IS TS N L
5Mpa, #it5Mpaltt, H#IEANIE . SIkAEE TR
IBATH, AR IS R P U 28 Fei i, DU H ik 15 2]
L () i A4 0

o5l B IS T IR AR SIS AT A 2 LA 30% 1 S s AT 401
ANIE, - DM A AR E A Sy (R B

80 cc/r ABar EZE 100 cc/r ABar EE
[ 35] 70] 105] 140] 170] 205] 240] 275] [ 35] 7o] 105] 140] 170] 205] 240] 275]
] 25| 45 ] 30
I | | "] 2
Lol %] sof es NIEERES
17| 8| 3 9| 5| =2
: 35| 75| 110| 145] 175] 205 ? 45| 95| 135] 175] 210
aa| 20| 37| 34] 28] 22 3a| 31| 28] 23] 15
: 35| 75| 110| 150] 180| 210 : 45| 95| 140] 180 215
90| 85| s1| 78| 72| 65 71| e8| 63| 59| 51
T 35| 75| 115| 150] 185| 215 T 45| 90| 140] 185 225
182| 176| 170 166| 159| 152 145| 141 136 131] 121
W ? 35| 75| 115| 150| 182 225 ? 45| 90| 140] 190 235
g2 | || 2v3| 267| 269| 254| 246 238 o [ || 219] 215] 200] 202 192 172
4 || 38| 75| 115] 150] 190 230 2 [, || 40| oo 140] 190] 240
A, 365| 375 | 349| 341| 333 325 294| 288| 281| 273| 261| 243
= ? 35| 75| 115] 155| 190 & ? 40| 90| 145] 195| 245| 295
= 456 | 448| 439] 429 420 3 368 362 354| 344/ 330
9 ? 30| 70| 115] 155| 195 . : 40| 90| 145] 195| 245| 295
= 547| 537| 530] 516/ 507 ° 42| 436 227] 415 399
? 30| 70| 110] 150| 195 = ? 35| 90| 140] 195 245 295
638 629 622| 603 593 516| 509 | 500] 486| 469 463
6_1 30| 70| 110] 150| 190 T 35| 90| 140] 195 245 295
729 720 714| 689 679 591| 583 573| 558 540
|| 25| 65 X 35| 85| 140] 190| 240
818 665| 657| 646] 630 611
7 30| 80| 135] 185| 235
739
Motors run with high efficiency in all 295Torque N.m |
. . 755 Speed RPU | | 83
areas designated with a number for torque
and speed. however for best motor life T
select a motor to run with a torque anc
speed range shown in the yellow area. :
AN GERBELNSR, BEFERGRBHFENT

Continuous HEZTH
- Intermittent FELLTH

Performance data is typical at 120 SUS .

Actual data ma:

vary slightly from unit to unit in production

2014-10



SMS Disc Motors

Motors run with high efficiency in all
areas designated with a number for torque
and speed. however for best motor life
select a motor to run with a torque and

speed range shown in the yellow area.

MEGFRBERK G, FEEEROKBIRER LA TEA.

125 cc/r ABar EE
[ 35] 70| 105] 140] 170] 205] 240] 275]
Lo |[ 48] 100
8| 2
58| 80 120] 180] 230] 285
) 27| 23| 19| 16] 13
75 |[ 80 120] 180] 235] 290
53
15
23
30
i)
B s
[aW
= | 45
—
=3
| 53
—
all 3!
68
76
83
91
95

nE

Flow LMP

Continuous

Performance data is typical at 120 SUS . Actual data may

vary slightly from unit to unit in production

LR EAE RARE D IEZE MBS BE120SUS Tl T /8 33,
AR DX LN R SEH ER.

4

R BC VR s Ty ik
160 cc/r ABar EE
[ 35] 7o 105] 140] 170] 205] 240] 275]
) 25
3
Lo || 25| 5] 110] 175] 240
of 7] 5] 3| 1
5 s || 30| e5] 130] 195] 260] 320
23| 21| 19| 17| 13| 8
2 s || 35| 70| 135] zo00] 265] 330
46| 45| 42| 39| 35| 34
s || 35| o] 140] 215] 285] 360
93| 92| 89| 85| 79| 77
55 || 35| 75[ 145 220] 295] 370
142| 140] 137| 131] 124] 118
w0 || 35[ 73] 150[ 225[ 300] 375
190 187] 184| 178) 170] 166
5s || 35[ 7o] 150[ 230[ 320] 385
237| 235| 231| 226/ 217 212
s |[ 30 7o] 150] 230] 305
286 283| 279 274 265
55 || 25| 65| 145] 230] 305
334) 331| 326 322 312
o1 |[ 28] e5[ 145 225] 300
382| 378| 374| 369 360
os || 20 e0[ 140] 220] 300
429| 426/ 422 416 407
76 || 2°
477
83
91
95
114

EETH
- Intermittent AELSL TN

2014-10




K * BSE" SMS Disc Motors

ELCA LW/ TR A BYN
195 cc/r ABar EE 245 cc/r ABar EE
[ 15] 35] 70] 105] 140] 170] 205] 240] [ 15] 3s5] 7o] 105] 140] 170] 205] 240]
. 25] 65 .
4] 2
Lo |l 35| 7of 150
8| 6| 2
5|l 45| 8o 160] 200] 305] 370
) 17] 16| 14| 11 7] 4
7.5 || 45| 85| 165] 250 325] 415
) 37| 35| 33| 31| 26] 21
s 45 90| 175] 260] 345] 430
76| 74| 72| 70| 64| 61
45| 90| 180] 270| 360| 445
23
i 115 113] 110] 108] 102] 99 i}
S 30 45| 90| 185] 275] 370 S
154 151 148] 146] 140
o 45| 95| 185| 280[ 375 Y
= | 38 =
3 193 190| 187] 184] 177 3
2 | s 40 9o 185] 280[ 375 =
o 231| 229] 226 221 218 o
i —
| g 35 85| 185[ 280 (=
269| 267| 264| 260
61 30| sof 185[ 275
308| 306] 303| 296
68 30| so| 180[ 270
346| 345| 342 334
76 25 75
385| 384
83
91
95
114

445Torque N.m
449Speed RPM

Motors run with high efficiency in all

areas designated with a number for torque

and speed. however for best motor life
Continuous FELETHR

- Intermittent AELT W

select a motor to run with a torque and

speed range shown in the yellow area.

HEDEREE KA, HEHAEROREREN TR TR,

Performance data is typical at 120 SUS . Actual data may

vary slightly from unit to unit in production
3R o B B R b Tk 7 W VRORS 5 120SUS T T W45 B Bdig
AR B A M e H 25

B

2014-10



K * BSE" SMS Disc Motors

ARG AU ik

305 cc/r ABar KEZE 395 cc/r  ABar EE
| 15| 35 70] 105] 140] 170] 205| [ 15] 35| 70 105] 120] 140] 155] 170|

55| 120

15

23

wE
RE

30

38

45

Flow LMP

Flow LMP

53

61

68

76

83

91

95

114

Torque : 510Nm
Speed: 293RPM

Motors run with high efficiency in all Continuous ES TR
areas designated with a number for torque - Intermittent ARSI
and speed. however for best motor life

select a motor to run with a torque and

speed range shown in the yellow area.

HEDERBEREO T, FEFEROREREN TR TN,

Performance data is typical at 120 SUS . Actual data may

vary slightly from unit to unit in production
3R A B AR v T ZE RO B 120SUS T4 T W18 48
AR DELNHIELSREESR .

G

2014-10



SMS Disc Motors

nE

Flow LMP

490 cc/r ABar EZE
[ 15| 35] 50| 70| 85| 105] 120] 140}
Lol [ 73] 180
2| 1
5 g|| 105] 225[ 340] 440] 550
7| 6] s| 4] 2
. 5| 105] 235[ 350[ 460{ 675 715
14| 13| 12| 10] 9o 7
15 || 110] 240 365] 480 605 720] 835
30| 29| 28| 27| 26| 24| 22
o3 | | 110] 240] 365 485] 605[ 725
45| 44| a3| 42| 41| 39
50 || 110] 240] 365 490] 610 730
61| 60| 59| 58| 57| 55
5g || 105] 230] 60| 485] 610
76| 75| 74| 73| 72
45 95| 225| 355[ 480| 605
91| 90| 90| 89| 87
53 90| 220 345[ 475| 60
106| 105] 105] 104] 102
o1 80| 210| 340[ 465| 590
122 121] 120] 119] 118
o8 70| 190| 315] 445| 570
153 152] 151 150] 149
76 190
152
83
91
98
675 Hl%E N.m
106 177 # % RPM
114

Motors run with high efficiency in all

areas designated with a number for torque

and speed. however for best motor life

select a motor to run with a torque and

speed range shown in the yellow area.

HELERBERKA @, FEEAROXEIRER TR T A,

ARG AU ik

Continuous EETHR
- Intermittent AELLT W

Performance data is typical at 120 SUS . Actual data may

vary slightly from unit to unit in production

LR EAE RARE D IEZE MBS BE 120SUS T4l T /8 33,
AR DX LN/ SEH ER.

i

2014-10



SMS Disc Motors

*SMS Series Dimensions

SMS RVIEE R
Standard Motor A Series
FrifE L IEA RS

54Min 60.2(max)

48.6(max)

Standard Rotation
Viewed From Shaft End

Port A Pressurized --- CW
Port B Pressurized --- CCW

LA bRE e 7 1]
X i i o

AT e, N e
Bl ka3 e

pilot
11 7h (mm)

HERC TR ik

PCRT: B
e B

)LA

Y
&
%1
T

1.94

B
1

3-MOX1. 5 Wi A

11,55

46.58

2014-10



K BSE" SMS Disc Motors

Flange Type to Fit Standard Motor A series FEHC IR ik
L bR AE Y IB AR BIVLEC Ik 22 X

A01
63 o
‘ H_ 17.8+08
9825008 o_gi39 [ 178+08 4-0135 | [
L |
- =
KKJ_J/
* 2223 S TETk
910638 ! : I ‘
10 } 219Mox || 219Max
215509 | 2155-10 }
215409 | 2154-10 |
\
\
A03 } A04 \
63
8 - #8030 (... 178408
9127 ‘L ‘ %‘\\ oL i
2| P (
g dl & ‘ : Zi
= /] | \ ‘ /7/ %
\ !
} G~ Tt 422
4013 L 20405 & N I ‘
‘ 'L 21.9Max
120 | \
2109 215532 |
} 215432 |
\
A0S | A0 |
I g 8
982,514 0-¢135 16.1+0.8 980005 p-g135 16.1£0.8
ﬁ NS i
zi | zi
M/ = ‘ N
i - \/ I
$106.38 \ cdoc.s $106.38 } c-gec
10 } 20.2Max 130 | 20.2Max
215533 | glgi% }
\
\
\
A7 | AO8 |
$106.38 382510 ‘ 6‘137 808 9106.38 8825100 3 19.140.8
‘ T 1 68135 — ‘ ‘ 6-0135 —
e i i |
S ~ Zi o % Zi
%L A = % i =
9106.38 } 69223 $106.28 || eteed
136Max | e 136Max } cactox
2154-30} 25437 |
|
[

2014-10



K BSE" SMS Disc Motors

VRS )
BRI ik
\
e
910638 9825108
/T\ E KN o
% i % Kj =
9106.38 EEE .
136Max l 25.7Mox L(Shaftfin)| L
2154»42} 25537 |
i \
All ‘ i A12 }
0825138 T loaus 092535 |
210638 é\ PITET i e d o208
“ N i ﬁ i
2 ! Zi
w7 7
== v T3
] eeed b EEE
I 234Max 130 | P42Max
\
2]54-47‘ 2154-38 }
| |
\ |
AI3 | Al4 |
| 63 63
970 35 M. 178408 980 g5 178408
<] 2o | o ol |
| z z
K‘/ - \‘J @
b [ Tezzed A 0 [T eeeea
130 } 21.9Max 130 I | P1.9Max
!
25515 | 215531 |
215415 | 215431 |
[ |
Al5 |
(1 Alé U \ (1
785417 178408 980145 178408
= 4-0135 | 899 ‘ il
N\ N Z R 4-011
: o
) & A =
) /7
% 1 /0& — ‘ 7 g
2 N ‘*: 4=922.3 7N ] 4-old
‘ 219Max } 219Max
2154-41 | 215436 |
\ |
|
T

2014-10



SMS Disc Motors

Dimensions ---Shafts SMS Series

SMS A F1) L 1A i 4 Al )L~

HERC TR ik

Splined Shaftfg

Splined Shaft:

Splined Shaft:

1119-44
Splined Shaft:

6D-30125. 6X8 % AL AR HIAERE:
0.02 yop 0 0.05 A v N -
|_pilot surface | 6D-30(; 011X26 0, 15X6.¢, 13 6D-25. 2.0 15X20. 3 (MAX) XE 6D-25. 5.0 15X20. 3 (VAX) X6 {- 32
| j 1k =
h N
| © §§ %3 © of o 2 [t
-t 2 - - — 1 - — o s
| i SV L1 V@ ° R 1§
= L2 M8 37.5 QMIN)
3 - 26.4 J7.0 QI
Adeep: 20 ~
32+40.5 7 38.3 50
48 c o 213 Part _Code 42 5/ 16-18UNC 53 8
o 4 5 1119/1129-24 43.2~45.3 Adeep:20 I
o PRdeep:20 32[3248 1112-03 54.2~56.3 Adeep:20
50~52. 1 0530[34] 45 1119-42 M0.| Toech widefi% E_| Part Code
NO.| C | Part Code 06202038 3| 1119/1129-08| 09 6.05~6. 10 1119-30 1 8
01| M8 1112-01 072828 |57 | 5¢ . 1 1119/1129-11 10 6. 10~6. 20 1129-30
02| M14 1112-03 083232 45| 45.7—~47.8| 1119/1129-12| 11 6. 20~6. 25 1119-41
Splined Shaft: 1119/1129-26| Splined Shaf't: LIO/H2913 14 o Shatt: $32Cyl. shaft Parallel keyl0
HOGACHE: FEEALSE: @ 32114, ~FH0

0.02 v 0. 16yg0.013
6V3()’0. 0'11)\26*0. 37)\8’0. 049

6D-25. 470 0% X21. 5X6. 25+0. 05

HOBACHE:
6D-25. 35 Si9xat. 35 2ixe. 2.5 07t

‘ ‘ I 23402 T S
‘ h [ I
‘ o S \ g - ! | gl -
1 I ST 8 A § B R Y™ R | I o T °2
\ sl 2 \ 58 N | \ R
St B S
30 (MIN) LM ‘ 9 56.8
58 38.3 — B 58~60. 1 (:Rg )
: [ 42 5/16-18UNC 44.3~46.4 c iRdeep
58~60. 1 ¥Rdeep:20 - WAdeep:20 (Rdeep) . Part Code
48,2455 17 M8X1. 25(21.5) | 1119/1129-07
NO. C (deep) Part_Code 18 MSX1 (16) 1119/1129-05
1 3 1 4 15 | 3/8-160NC (19) 1119/1129-06 9]  wWi0@L5) 1119/1129-33
16 | 1/4-20UNC (15.2) 1129-42 20 MI2(23) 1119-36
1119-43 1129-39

@ 32Cyl. shaft Parallel keylQ

?31.7Cyl. shaft Parallel key7.963

@ 32 L1k, P10 @ 31. TE, Tk, 963
M X
[ E— ;
|
[ p—— I
43 41.5 c
¥Rdeep: 19
44.57246.4 c 18.8~50.9 | P
(IRdeep)
N[ C (deepis) [ Part Code C (deepi) [ Part Code

21 ‘ MBX1.25 (21.59) ‘ 1119/1129-31

3/8-16UNC (19) ‘ 1119/1129-02

22 | M0 2159 [ 1119/1129-32

.
23 |
24|  Mi2-6h (19

[ 1119/1129-23

@31 7Cyl. shaft Parallel key7.963
0 31. TELl, 7. 963

?31.7Cyl. shaft Parallel key8
@ 31. THb, 748
1.3

60 Ht-— 1
61.3~63.4 48+0. 15
3/8-16UNC 53.8 Mi26H
¥Rdeep:19 5557 2 ideep:30

&S

1129-41
@31.7Cyl. shaft Parallel keyT7.963

@ 3L. TEl, P, 963
\ 31.4

1119/1129-09
?25Cyl. shaft Parallel key8

@ 254, T8
\ 28

3/8-16UNC
deep: 19

c/

p25+0.0
0
©28-0.2

&
1112-02

@25Cyl. shaft Parallel key8
© 25 P, 148
28

1119/1129-15
@25Cyl. shaft Parallel key6.35

0 25 Fik, ~1H6. 35

29

5
r | 2 4.
[ I LI I
. \ S
og [ 3 o%:'
ES \ L 8 3
48 39
M8 M8
’ 40. 3~42. 4
50~52. 1 VAdeep: 20

Rdeep:20

30

00

2014-10



SMS Disc Motors

Dimensions ---Shafts SMS Serirs

SMS A F1) L 1A i 4 Al )~

HERC TR ik

1119/1129-10 1119/1129-16 1119/1129-01 1119/1129-20
17 In.Dia. Straight Shaft with key8 1” In.Dia. Straight Shaft with key6.35 1° In.Dia. Straight with Woodruff key6.35 17 In.Dia. Straight Shaft with key8
25. 4114, 1548 25, 4Fifl, *1*46. 35 025, 4Eifil, J1°F46. 35 25, 4 Fifl, ~14H8
| Pilot surface 39 4 - 28
< \ — \ 18.5 \ 6
\ %8 4 H ] S - Lt | —
n— [ o3 | og I = os
e | = 1 < | B [ i =
| T | £ (N | 4 2
| &
" < 39 43.5 1/4-20UNC-2B 43
36 3 o =
4 VRdeep:15. 4 V8
37.3~39.4 s . 3~42. = ~46 —
& 03 A | eep 20 13.8~45.9 44.346.4 | Fedeep:20
18
3 1 YRdeep:20 3 8 3 3 3 4
1119/1129-18 1119/1129-17 1119-35 1129-36
$22Cyl. shaft Parallel key6 ?30Cyl. shaft Parallel keylO ?#30Cyl. shaft Parallel key8 ?35Cyl. shaft Parallel keylO
@ 22114, 746 8 30 14, 1510 30114, P48 3511, P10
| ‘ a5 28 3 e —r
| 10 6 — — ‘
— I I LT I H
[ ‘ = o2 | ool e | S
! B = 3 =
H+-— A 2 G T-——f— F 5 H S S, T
| B | K |3 °
58 34 _
M8 \M8X 1. 25-6H )8 56.8 \
—~ TRdeep: 20 Pdeep:21 5 9 deep: 20 -
59. 3~61. 4 videep Adeep 35.2~37.3 P 58~60. 1 M8 1. 25-6H
VRdeep:21

?32Cyl. shaft Parallel keylO
o 32 1, P10

1129-45 Splined Shaft:

HALHE:

6D-34. 85 ) ,X28.14 { ,-X8.64 ) |,

1129-44
Involute Splined

WITSAEEE:M2. 25 711

1129-38

a20°

39

| 47 | | 30 (min)
I | S—
; - : ([ == ]
< 2g| .2 2 3 \
L e | | IS | — - - “ \8
s El s 3 o]
il L : [
50+
50£0.1 380.25 "
110 M10 761 MBX1. 25-6H
111.3~113.4 Rdeep:21.5 100 TRdeep:20 55.1~57. 2
101.2~103. 3

40

41

©31. TTapered Shaft, taperl:8, paralled
0 3L THERER, HEREL:8, T4ET. 96

key7.96 | Involute Splined

WITLAEHE: DP12/24 714

1119/1129-19 Involute Splined

1119/1129-04

a30° WOTLALHE: DP12/24 714 @ 30°
r 5.140.3 s .
| 350 pa.140.3 19 SRCCE 33 i)
0
[ — S & = -
] $S s ~| =
I ol S I
é g K g 3
+0.4
\L5§ - MIOXL. 5 7.5
108 50. 3~52. 4 PRdeep:19 3/8-16UNC
48.8~50.9 e 10
NO. D Part Code
42 M24X1. 5 1119/1129-14
43 1-20UNEF 1119/1129-03 4 4 4 5

1}2

2014-10



K BSE" SMS Disc Motors

FLBCT IR R ik
SMS Standard Motor Series Dimensions Port RLiE 5

SMShRHUE LY IA R F1 i 44 R

PORT: Case drain PORT: Case drain
i it i L« i it i L«
465 01| 2-Mooxis—6H |  M14x1.5-6H | 2306—30 46.58 10 [2-M22X1.5-6H  M14x1.5-6H 230616
;‘O‘RT A R @ 2-G1/2 Gl/4 BSP |2306-14 ‘?‘O‘R‘T A 1 | 2-M18X1.5-6H M14x1,5-6H| 2306-33
03 2-61/2 M14x1.5-6H | 230618
04 2-G1/2 % (None) |2306-25
) 51 05|  2-M22x1.5-6H M10X1—6H | 2306-21 D) =
3 = 06 | 2-0.875—14UNF| 0.4375-20UNF |2306-13 p =t g
07| 2-NPTF1/2 G1/4 BSP | 2306-28 e 4
08| 2-M20X1.5-6H| Mi4x1.5-6H | 2306-26 1
09 2-G1/2 G1/8 BSP_ | 2306-31
A\ PORT: B —\PORT: B
WL B SMOX1.5-6H ST B
i#(Deep): 157
PORT: Case drain PORT: Case drain
s [IsE it AL« W it AL <
SoRT. 4 807 12 2-M22X1.5-6H] M14x1.5-6H |2306-17 14 2-61/2 G1/4 BSP|2306-19
TR —— 13 | 2-M14X1.5-6H|  M14x1.5-6H 230620 Rt B 15 2-G1/2 Ji (None) | 230632
22 5.
PN H 16 2-NPT1/2 J (None) | 2306-34
N N 17| 2-7/8-14UNF % (None) | 2306-35
K 7 - o 18] 2-M20X1.5 | M14x!.5—6H | 230639
p o K{ 19 2-M22X15 | Mi4x1.5-6H | 230644
j 20  2-61/2 3/8-160NC | 2306-41
2-M10x1.5-6H
\j‘O‘RT'EB i (Deep)13
486,
PORT: A
e A
PORT: Cose drain PORT: Case drain
e i 9L - e s i 4L -
21 2-013 |0.4375-20UNF |2306-22 24| 033.27Deep)1.8 | £ (None) | 2302
22 2-913 M14x1.5-6H | 2306-27
iz 23 |Ai013 B: 016|0.4375-20UNF | 2306—43 0.0 4610
PORT: A 20074 PORT: A -
IR — ECH )| 49t01
Py 8-M10-BH
& -
] 5 | cE e W]
3 E EE
4 2 NN
T\ PORT: B 17+0.1
3-M10x1.5-6H \m 46402
(Deep): 15.7 4101
8001

26

Gl/4
+ +
57.1%0.1 57.1%0.1 95205 95205
B - 2-M22x1.5 |
EE=5p \!
\ |
46,25
4’ 4‘
2307 22,35
| } [ ]
2308N-23

2306N-40

2014-10



K * BSE" SMS Disc Motors

. AW JIREBVN
Standard Motor B Series (Wheel Motor)
FRESIABR Y (448 k)
134.2max
©1.25"Tapered Shaftl:8, Paralled Key/j#7. 96 S4Min
©31. THERESNL:8, JrikT. 96 01476 S
N <
T 375 25405 .
< / A L | | o
mp 1L 2oyl R ol T &
2 S T g g < 5 IR
« 1N , 5 - ' |
—> BQ/Q : 1
— - ,
3-MLOXLS 155 a3 1 \& 1 e’
46,58 223 6.3 4-0133
46.5 56.7
H 102.8~105.5

Standard Rotation: Viewed From Shaft End, Port A Pressurized --- CW;Port B Pressurized --- CCW
kR T e TED S e, A S R, R BT B D B, W e

H mm 138.7 141.9 146. 6 153 159.7 168.8 180. 1 196.1 213.5

Shaft Side Load Capacity SMS Series
SMS R F1| By i H 0] 1) 245 i )

kg kg kg

2000 2000 2000

1500 1500 1500

1000 1000 1000

500 500 500 I~

0 0 0

50250 25 5075 100 mn -50-25 0 25 5075 100 mm 5025 0 25 50 75 100 M
394 325 o8

Standard Motor for ©1.25" or 932 Sheft  Standrd Motor for 817 or 025 SEFt  peel Motor for @ 125" Tapered Shaft
0 31. 7o) S2b LGl 25, 4 25b Ll RS TIg 31. T

04

2014-10



K * BSE" SMS Disc Motors

HERC TR ik

Standard Motor C Series (Bearingless Motor)
PrE B IEC R (FehhAR ik)

42

+0.00
4

\
0
0
#1015%8bs

Standard Rotation:

Viewed From Shaft End , Port A Pressurized --- CW; Port B Pressurized --- CCW
IS bR e 77 1) -

T it o, A il D REVh, U T BERE; Bal Dk, SN AR

H (mm) 126.5 129.9 134.6 141 147.7 156. 8 168. 1 184.1 201.5

Flange Type to Fit Standard Motor C (Bearingless Motor) Series
EibsttE IS COIE A ik ) RANVLHC VL == 4150

0t

21007503

010158

eled-ta-n 2124-14-02

18

2014-10



K * BSE" SMS Disc Motors

HERC TR ik

6+0.2 16+0.8 4-0ll 602 1608 15.,00215.00°
jzz==] 2125
2125
a ful- =t an
o3 HER < XL
g b 2
S ) g S Q
2 i
13885 t 13885 t
+10 +10
18.8-01¢ 18.8-01e
24.4+0.3 24.4+0.3 2124-36
2124-34

M22x1.5

Cs 3 L

1348 Mo
] TRdeep: 18min
092,08 — ‘
2,988 EE 8

ol 3| 2g o
B B =3 2| 25| 39 | B | i - =

g8 3 2 I g

8 g P Sl

N
%\VE

i i 40
235 ] 60
501 44 M22x1.5 i
18.45+0.2 FORT: A
At@ 2124-17 2306-23
H

Standard Rotation:

Viewed From Shaft End , Port A Pressurized --- CW; Port B Pressurized --- CCW
bR HE g 77 17 -

T X A h o, A S LR, TR E e B I, T R

H (mm) 187 190. 4 195.1 201.5 208.2 217.3 228.6 244.6 262

16

2014-10



K * BSE" SMS Disc Motors

AW JIREBVN
Bt@ 4-M10
#deep: 18Min
s | 12 4105
Y 7 NN &
9 | @ \ A ja==
@) @) ? ﬁé:
SZ4 = E12‘310‘1 8 }
+0T
735 eﬁ“ztﬂoq t@ A 735
27+0.2
H 2124-35  2306- 37

Standard Rotation:

Viewed From Shaft End , Port A Pressurized --- CW; Port B Pressurized --- CCW
ik bR e 7 1) «
T b, Al Rk, WAL e B Rk, SN A e

H (mm) 187 190. 4 195.1 201.5 208. 2 217.3 228.6 244.6 262

Standard Motor C Series (Bearingless Motor)
Internal Spline Data For The Attached Component
REDIXCRY (& DiE) NERERESH

12
DP 12/24
a 30
D 0254 Hardering Specification : HRC62
Dei $27 .6 f00-014 Effective case depth 0.7~1.2
Dii ¢ 23 +o.224 %EE}E: HR062
E 4.3 +o:o1s %ﬁ%}?iﬁ: 0 7~1.2

" -0.054

07/
2014-10



K * BSE" SMS Disc Motors

HEPCT . Ty ik
Standard Motor D Series (Braker Motor)
brUE L IED R (R4 ik)

Brake-release port: MIOX1 Case drain:M10X1
AZETFF M M10X1 Ml e M10X1 P
/ =
6127
. 600>
= @& J | |
ST TH e Ml T 2 Al AR
¥ A3 N ’) W\ S =
<== A Ny i s
> B e ) ‘ 3% \
3-M10X1.5 11,55
7%0.1 53~55
46.58
120
H

Technical Datafi RZ¥:

1. Releasing pressureffJ& K JiBar: 12~22Bar

2. Brake torquetflzHIiNm: 250~320Nm

3. The same performance parameters and standard motor
PERE S BRI vfE T ik

4. Port can choose standard motor A type
T RT3 ARV T i A

5. Every 3 months to replace the brake oil
RERE3AS H ST 5 38

Standard Rotation:

Viewed From Shaft End , Port A Pressurized --- CW; Port B Pressurized --- CCW
ik AR 7 1«

T R o, AT B, TN e Bl bk, R B

H (mm) 213.5 216.9 221.6 228 234.7 243.8 255. 1 271.1 288.5

118

2014-10



SMS Disc Motors

: . S92 I T T 5
SMS Standard Motor A Series Order Information AR S ik
2 Bolt Flange, Pilot
\DIX15 Case Straight o1 ©82.55 (A01) 182m0301 302 303 304 305 306 307 308 309
Drain M14X1.5 Fatkey8(34)  |4BoltFlange, Plot | 00 (471 4720 473 474 475 476 477 478 479
10) ©82.55 (A02)
Straight 25 4 Bolt Flange, Pilot
182m0451 452 4 454 4 4 457 4 4
Flat Key 8(28) ®82.55 (A02) 82mo4s S 3 S % %6 S %8 %9
M22X1.5 Case
. Straight ©1.25” 2 Bolt Flange, PFilot
Drain M14X1.5 182m0011 0012 0013 0014 0015 0016 0017 0018 0019
(?'1”) Flat Key 7.963 (23)  |@82.55 (A01)
Straight ®1” 2 Bolt Flange, PFilot
182 1 2 4 7
Flat Key 8 (31) 08255 (AO1) 82m0061 0062 0063 0064 0065 0066 0067 0068 0069
Straight 25 2 Bolt Flange, Pilot
Flat Key 8 (28) 8255 (AO1) 182m0021 0022 0023 0024 0025 0026 0027 0028 0029
4 Bolt Flange, Pilot
Straight (32 F82.55 (A02) 182m0041 0042 0043 0044 0045 0046 0047 0048 0049
FlatKey 10 (17) [2 Bolt Flange, Pilot
182 71 72 7 74 7 7 77 7 7
08255 (AO1) 82m00 00 0073 00 0075 0076 00 0078 0079
2 Bolt Flange, Pilot
Square Spline ©8255 (AO1) 182m1031 1032 1033 1034 1035 1036 1037 1038 1039
M22X1.5 Case |6D30X26X6 -32 (08) 4 Bolt Flange, Pilot
Drain M14X1 5 F82.55 (A02) 182m1111 1112 1113 1114 1115 1116 1117 1118 1119
10 Square Spline 4 Bolt Flange, Pilot
! 182m1051 1052 1 1 1 1 1057 1 1
6D30X26X6-45 (03) |F82.55 (A02) 82m105 05: 053 1054 1055 1056 105 058 1059
Square Spline 4 Bolt Flange, Pilot
6D30X26X6-20 (06) |F82.55 (A02) 182m1091 1092 1093 1094 1095 1096 1097 1098 1099
Square Spline 6D- 4 Bolt Flange, Pilot
30X26X6- 45(03) F82.55 (A02) 182m1381 1382 1383 1384 1385 1386 1387 1388 1389
12/24 Involute Spline, |2 Bolt Flange, Pilot
182m2411 2412 2413 2414 2415 2416 2417 2418 2419
14T (44) ©82.55 (A01)
Port Straight ©25 2 Bolt Flange, Pilot
182m0151 152 1 154 1 1 157 1 1
G1/2BSPCase |FlatKey 6.35 (30) 8255 (A1) 82m015 5 53 5. 55 56 5 58 59
Drain M14X1.5 -
Straight 25 Flat |2 Bolt Flange, Pilot
182m0461 462 463 464 465 466 467 468 469
(03) Key 8(28) 82,55 (A01)
Straight ¢1.25” Flat |2 Bolt Flange, Pilot
Key 7.963 (23) ©82.55 (AO1) 182m0341 342 343 344 345 346 347 348 349
Straight ®1” Flat |2 Bolt Flange, Pilot
182m0161 162 163 164 165 166 167 168 169
Port G1/2BSP  |Key 6.35 (32) ©82.55 (A01)
Case Drain Straight ®1.25” Flat |4 Bolt Flange, Pilot
182m0251 252 2 254 2 2 257 2 2
G1/4BSP  (02) |Key 7.963 (23) F82.55 (A02) 82m025 ° 3 S %5 %6 ° %8 %9
Square Spline 4 Bolt Flange, Pilot
6D30X26X6,(13) F8255 (A02) 182m1421 1422 1423 1424 1425 1426 1427 1428 1429
12/24 Invol li 4 Bolt Fl Pl
PTG MO S T, ottFiange, Flot | 1eompoa1 2042 2043 2244 2245 2246 2247 2248 2249

14 Teeth (44)

F82.55 (A02)

19

2014-10



SMS Disc Motors

BRI ik
Straight 4 Bolt
P7/8-14UNF 0-| @1.25” Flange, Pilot
ring, Case Flat Key ©82. 55 (A02) 182m0271 0272 0273 0274 0275 0276 0277 0278 0279
Drain 7/16- | 7.963 (25)
20UNF 0- 2 Bolt
ring (06) Flange, Pilot| 183m1022 1023 1024 1025 1026 1027 1028 1029 1020
®82. 55 (A1)
Straight @1 2 Bolt
7 (37) Flange, Pilot]| 182m0051 0052 0053 0054 0055 0056 0057 0058 0059
Flat Key 8 | ®82.55(A01)
Manifold Port Straight 4 Bolt
Face, Case ©32(15)  |Flange, Pilot] 1gono1o1 0122 0123 0124 0125 0126 0127 0128 0129
Drain 7/16= | £ ¢ Key 10 | ®82.55(A02)
20UNF (21)
Square Spline 4 Bolt
6D- Flange, Pilot| 182m1431 1432 1433 1434 1435 1436 1437 1438 1439

SMS Motor A Series (Standard Large Flange ) Order Information

Straight ©32
Flat Key
10(17)
Square Spline
6D-
30X26X8(01)
Square Spline
6D-
30X26X6(04)
Square Spline
6D30X26X8(0
Manifold Port 1)
Face, No
Case Drain

181m0021 0022 0023 0024 0025 0026

M22X1.5,
Case Drain
M14X1.5(10)

181m1001 1002 1003 1004 1005 1006

4 Bolt Flange,
Pilot
®100(A03)

181m1041 1042 1043 1044 1045 1046

181m2133 2134 2135 2136 2137 2138

Square Spline
6D-
30X26X6(04)

181m2143 2144 2145 2146 2147 2148

120)

2014-10



SMS Disc Motors

SMS Motor B Series (Wheel Motor ) Order Information

HERC TR ik

M22X1.5, | straight p32 | 4 Bolt Wheel
Case Drain Motor Flange,
182n4371 4372 4373 4374 4375 4376 4377 4378 437
MI4X1.5 Flat Key 10 | Piiot ga.25" 8 3 3 373 3 375 376 3 378 379
(10) Aan (B1)
4 Bolt Wheel
Square Spline thc?r Flane:
Piot Zg,,’ 182m1101 1102 1103 1104 1105 1106 1107 1108 1109
Me2x1.5, | 6D-30x26X6 [ PO ;4-
Case Drain (08) (B1)
M14X1.5 T1 25 4 Bolt Wheel
(12) apered |y tor Flange,
Shaft (1:8) Pilot (425" 182m4141 4242 4243 4244 4245 4246 4247 4248 4249
Flat Key (B1).
7.963 (42)
G1/2BSP, | Straight F32 Jb?;’r";:: e:'
Case Drain Al t([>42?>”’ 182m1134 1135 1136 1137 1138 1139 1140 1141 1142
G1/4BSP(02) | Flat Key 10 o o
A7 (B1)
7/8-14UNF 125 4 Bolt Wheel
O-ring, Case Tapered Motor Flange
Drain 7/16- Shaft (1:8) g", 182m1001 1002 1003 1004 1005 1006 1007 1008 1009
Pilot 4.25
20UNF O- Flat Key (B1)
ring(06) | 7.963 (43)
1-1/16-12UN [ 1.25” Straight| 4 Bolt Wheel
Case Drain Shaft Motor Flange
| 182m4381 4382 4 4384 4 4. 4387 4 4
7/116-20UNF Flat Key Pilot bd.25” 8 38 38 383 38 385 386 38 388 389
O-ring(25) | 7.963(23) (B1)

2014-10



SMS Disc Motors

SMS Motor C Series (Bearingless Motor ) Order Information

Splined shaft

HERC TR ik

2- M22X1.5, 4 Bolt Bearingless
Case Drain Motor Flange(C1), | 182M8181 | 8182 | 8183 | 8184 | 8185 | 8186 | 8187 | 8188 | 8189
M14X1.5 (01) |12/24DP 12T Rilot 101.5
2- M22X1.5, | Splined shaft 4-M10
Case Drain Bearingless Motor | 182M8311 | 8312 | 8313 | 8314 | 8315 | 8316 | 8317 | 8318 | 8319
M14X1.5 28y |12/24DP 12T o oe(cs)
ZCZaI\SIIEZS(r;Ii Splined shaft 4-M10
Bearingless Motor | 182M8411 | 8412 | 8413 | 8414 | 8415 | 8416 | 8417 | 8418 | 8419
M14X1.5 12/24DP 12T| " ganoe(cs)
(73.5X73.5)
2-G1/2BSP, Splined shaft | 4 Bolt Bea.ringless
Case Drain Motor Circular | 4gong581 [ 8582 | 8583 | 8584 | 8585 | 8586 | 8587 | 8588 | 8589
G1/4BSP (14, |12/24DP 12T| Flange(C3), Piot
100
Port G1/2BSP, Solined shaft 4 Bolt Bearingless
Case Drain P Motor Flange(C2), | 182M8381 | 8382 | 8383 | 8384 | 8385 | 8386 | 8387 | 8388 | 8389
G1/4BSP (02) | 4504pp 12T Rilot 100
2-G1/2BSP, Splined shaft 4?21892:?:235
Case Drain or ~no 182M8681 | 8682 | 8683 | 8684 | 8685 | 8686 | 8687 | 8688 | 8689
12/24DP 12T| Flange(C4), Pilot
G1/4BSP (14) 100

SMS Motor D Series (Brake Motor ) Order Information

M22X1.5,
Case Drain
M14X1.5
(10)

(04)

Flange, Pilot

Square Spline | Brake Motor
6D-30X26X6

100

186m0001 2

212

2014-10



SMS Disc Motors

SMS HREARSI SR ITHE R

HERC TR ik

29Lik2s, kM
6254 255 (A1) 182m0301 | 302 | 303 | 304 | 305 | 306 | 307 | 308 | 309
M22X1.531 i 11 P48 (34) 45025, k0
o 182m0471 | 472 | 473 | 474 | 475 | 476 | 477 | 478 | 479
M14X1.5 (10) 28255 (A02)
H#h 25 4 Bolt Flange, Pilot
182m0451 | 452 | 453 | 454 | 455 | 456 | 457 | 458 | 459
ik 8(28) F82.55 (A02)
M22X1.533H 1 Bl ©31.75 2425, 1kn
182m0011 | 0012 | 0013 | 0014 | 0015 | 0016 | 0017 | 0018 | 0019
M14X1.5 (11) JrEET.963 (23)  |082.55 (AO1)
Hfh @25.4 251k, akn
182m0061 | 0062 | 0063 | 0064 | 0065 | 0066 | 0067 | 0068 | 0069
P8 (31) ©82.55 (A01)
Tl 25 2fLi2s, kM
i s (28) w8255 (A0) 182m0021 | 0022 | 0023 | 0024 | 0025 | 0026 | 0027 | 0028 | 0029
452, 1kn
182m0041 | 0042 | 0043 | 0044 | 0045 | 0046 | 0047 | 0048 | 0049
EHD32 8255 (A02)
PRI (1) gLz b
S 182m0071 | 0072 | 0073 | 0074 | 0075 | 0076 | 0077 | 0078 | 0079
©82.55 (A01)
244k, kM
182m1031 | 1032 | 1033 | 1034 | 1035 | 1036 | 1037 | 1038 | 1039
41T 754 6D30X26X6 - | 82,55 (A01) m
32 (08 s
MR2X1 53015 1 (08) g;Lé§7A$;)D 182m1111 | 1112 | 1113 | 1114 | 1115 | 1116 | 1117 | 1118 | 1119
MAX15 (10) (s 45‘L£ =
Sl - e, en
182m1051 | 1052 | 1053 | 1054 | 1055 | 1056 | 1057 | 1058 | 1059
45 (03) $82.55 (A02) m
JEE A kk 6D30X26X6- (4 FLik>%, k11
182m1091 | 1092 | 1093 | 1094 | 1095 | 1096 | 1097 | 1098 | 1099
20 (06) 8255 (A02) m
M Atk 6D-30X26X6- |47L7k=%, 1k &
g s () 182m1381 | 1382 | 1383 | 1384 | 1385 | 1386 | 1387 | 1388 | 1389
12124 ¥igrekiei, 1405 | 290324, 1k
182m2411 | 2412 | 2413 | 2414 | 2415 | 2416 | 2417 | 2418 | 2419
T (44) ©82.55 (A01)
. H#d25 2 flik%, kN
W11 G1/2BSPyi 182m0151 | 152 | 153 | 154 | 155 | 156 | 157 | 158 | 159
4t 635 (30 255
sl M14X1.5 P (30)  |®82.55 (A1)
(03) i ©25 2Lk, kn 182m0461 | 462 | 463 | 464 | 465 | 466 | 467 | 468 | 469
Pt 8(28) ©82.55 (A01)
Bl ®31.75 241324, 1kH
S e oh 182m0341 | 342 | 343 | 344 | 345 | 346 | 347 | 348 | 349
i @25.4 233k, kN
182m0161 | 162 | 163 | 164 | 165 | 166 | 167 | 168 | 169
i [1G1/2BSP gk 6.35 (32) ©82.55 (A01)
kgl o G1/4BSP i ©31.75 472, kN
182m0251 | 252 | 253 | 254 | 255 | 256 | 257 | 258 | 259
(02) Jrar7.963 (23) | 98255 (A02)
FETE e AfLik2s, 1kn
182m1421 | 1422 | 1423 | 1424 | 1425 | 1426 | 1427 | 1428 | 1429
6D30X26X6,(13) | 98255 (A02) m
1212435 r e, 1448 |4 FLik%, 1kn
182m2241 | 2242 | 2043 | 2244 | 2245 | 2246 | 2047 | 2248 | 2249
(44) $82.55 (A02)

213

2014-10



K * BSE" SMS Disc Motors

SMS IHEARII BIEIT B R HEFCHLR ik

N B 031,75 |4 FLiE=Z, 1EO
SHE7/8-14UNF

Omri 3 F5E7. 963 ®82. 55 (A02) 182m0271 0272 0273 0274 0275 0276 0277 0278 0279
—ring, 77

O 7/16-20UNF 2%
2 FLE=, 1kO

O-ring (06 183m1022 1023 1024 1025 1026 1027 1028 1029 1020
€ ®82. 55 (A1) "

B 0254 |2 Flix=, 1EO
4 8(37) ®82. 55 (A01) 182m0051 0052 0053 0054 0055 0056 0057 0058 0059

*ﬁgﬁZED BHp32 4FLE=, b0
7/16-20UNF FR10015) ®82. 55 (A02) 182m0121 0122 0123 0124 0125 0126 0127 0128 0129
v EHER | 47LE=, A
6D- ®82. 55 (A02) 182m1431 1432 1433 1434 1435 1436 1437 1438 1439
30X26X6 (13)

SMSHREEA R TiE (KiE2) iTHRER

32
Eﬁh o 181m0021 0022 0023 0024 0025 0026
F4E10(17)
yHT I
M22X1 -5, %E%TE%E‘)Di 181m1001 1002 1003 1004 1005 1006

vkl = 30X26X8(01)
M14X1.5(10)

FH T Ax e 6D-
30X26X6(04)

HEAEE
6D30X26X8 181m2133 2134 2135 2136 2137 2138

W, (1)

I
HiE At 6D-
30X26X6(04)

4 ?L/f YA 1 181m1041 1042 1043 1044 1045 1046
[1d100(A03)

181m2143 2144 2145 2146 2147 2148

27

2014-10



K*RSEN

SMS Disc Motors

SMS B &%l (F#Lik) iTHRER

HERC TR ik

i C1M22X1.5, Bl d32
kv 4 FLAR ik,
182mA371 4372 4373 4374 4375 4376 4377 4378 4379
M14X1.5 P10 1 1®107.9(B1) 3 373 43 3 3 3 3
(10) A7
HE A E 6D~ .
soxoex | FILERBIE, | e 1401 1102 1103 1104 1105 1106 1107 1108 1109
|| F1D107.9(B1)
sMe2x15|  08)
LRy
M14X1.5 31754k
(12) M, HERE | 4 FLAER DI,
e | ey oy | 1827141 4242 4243 4244 4245 4246 4247 4248 4249
7.963 (42)
G1/2BSP, jii i ‘
airy|EAe32, P4 SLERSIE, | qgoniq34 1435 1136 1137 1138 1139 1140 1141 1142
%10 (17) |41 [1P107.9(B1)
G1/4BSP(02) '
7/8-14UNF | 31754
O-ring gttty 0 | 4h, )% | 4 FLAER Dk,
182m1001 1002 1 1004 1 1 1007 1 1
e s0NE | 18, s | rator o 1€2m100 002 1003 1004 1005 1006 1007 1008 1009
O-ring(06) | 7.963 (43)
T1/16-120N | 31.7504 | )
M 1 7/16- e J‘Lﬁﬁ%ﬁ;@ﬂ 182mA381 4382 4383 4384 4385 4386 4387 4388 4389
20UNF O- 7.963(23) .

215)

2014-10



SMS Disc Motors

SMS ik CR¥| (TCHIADIE ) ITRER

HERC TR ik

2- M22X1.5, [t o 1t b N
Mkl M14XA5 | 19/940p 45‘????‘5?5%1}: 182MB181 | 8182 | 8183 | 8184 | 8185 | 8186 | 8187 | 8188 | 8189
01 121 '
2- M22X1.5, jiit (7 Ireeqe st |, .
WiE MI4X15 | 12/24DP 4M1gjfﬁé§%¢ 182M8311 | 8312 | 8313 | 8314 | 8315 | 8316 | 8317 | 8318 | 8319
(28) 121k -
2- M22X1.5, it [ reqemah |, .
WOMI4x15 | 12/24DP 4M1?£§fﬁé§;%¢ 182M8411 | 8412 | 8413 | 8414 | 8415 | 8416 | 8417 | 8418 | 8419
(73.5X73.5) 1244 -
2-G1/2BSP, it | w4 1y .
nGiuesp | tzzapp |4 SLLHRSIME | qaonpse1 | ase2 | ases | 8se4 | 85es | 8586 | sse7 | ases| asso
(14) 12 | S
Port G1/2BSP, it | s 71 25 14 kel s
WMnGI4BsSP | 12/240P | jtgfmﬁﬁ’%f 182M8381 | 8382 | 8383 | 8384 | 8385 | 8386 | 8387 | 8383 | 8389
(02) 124 *(C2),
2-G1/2BSP, jiitih |77 2 et | 4 FLESTE Tokiak 1
[IGU4BSP | 12/24DP | jky:2:(C4), Piot | 182MB681 | 8682 | 8683 | 8684 | 8685 | 8686 | 8687 | 8688 | 8689
(14) 124 100
SMS Bi& D&% GhizhEiE ) TRER

M22X1.5,3ah |  AETRAERE | gz mikd
HMIAXTS | o oexe | #2% 1k0 | 186m0001 | 0002 [ 0003 | 0004 | 0005 | 0006 | 0007 | 0008 | 0009
(10) (04) @100

2014-10



K ® BSE" SMS Disc Motors

SMSHEFC I ik
Order Information

NSRS,

S|M|S

Position 1,2,3 ---SMS Series Motor
1,230 8T ---- SMS R ik

Position 4  ----Motor Type
BT - Ty
A e Standard Motor A Series, tfE L iEAFR 5]
B - Wheel Motor Series , = 5¢ Ly ik & 5]
C - Bearingless Motor Series, .l & Ty ik & 51
D - Brake Motor Series , i3} &5 R4

Position 5, 6 ---Displacement, cc/r

5, 6 fify —---HiAHEE

01 ----80

02 ----100
03 ---125
04 ----160
05 ----195
06 ----245
07 ----305
08 ----395
09 ---490

Position 7,8 ,9 ----Flanges and Pilot

T8 INHT -k AR LR

A0l ---- 2Bolt&Boil Circle ¢ 106.38 Flange, Pilot ¢ 82.55&High6.3
29Lik5. 43S ¢ 106.38 , 111 ¢ 82,55, 6.3

A02 ---- 4Bolt&Boil Circle ¢ 106.38 Flange, Pilot ¢ 82.55&High6.3
4fLi%>5 L YPER $106.38, 1E11 $ 8255, 6.3

A03 ---- 4Bolt&Boil Circle ¢ 127 Larger Flange, Pilot ¢ 100&High8
4fLIEE L SYFER 0127, 1R $100. 158

1247

2014-10



" SMS Disc Motors

A4

SMSHE LR s Ty ik
---- 4Bolt&Boil Circle ¢ 106.38 Flange, Pilot ¢ 80&High6.3
AfL2%5. PR 10638, 1ET $80. #16.3

AQ05 ---- 2Bolt&Boil Circle ¢ 106.38 Flange, Pilot ¢ 82.55&High8

2FLEE2E . Ay 0 106.38 , 11 $82.55. &8

A06 ---- 2Bolt&Boil Circle ¢ 106.38 Flange, Pilot ¢ 80&High8

AQ7

2925 43R & 106.38 , 1l11 &80, 8
---- 6Bolt&Boil Circle ¢ 106.38 Flange, Pilot ¢ 82.55&High6.3
6FLVE2%. 4y FEER $106.38 , 111 $882.55. 6.3

A08 ---- 6Bolt&Boil Circle ¢ 106.38 Flange, Pilot ¢ 82.55&High5

A09

Al0

All

Al2

Al3

Al4

Al5

Al6

B

Cl -

6fLi%L%. 4 $106.38 , 1l:11 8255, /5
---- 4Bolt&Boil Circle ¢106.38 Flange, Pilot ¢ 82.5&High2.5
AfLVE%EL 4y PR $106.38, 111 $82.55, 2.5
---- 2Bolt&Boil Circle ¢ 146.06 Flange, Pilot ¢ 101.6&High9.3
29032, A ¢ 146.06, 11-11 ¢ 101.6. /9.3
---- 4Bolt&Boil Circle ¢ 106.38 Flange, Pilot ¢ 82.55&High4.8
45, SYFER $106.38, 1EI1 #8255, 4.8
---- 2Bolt&Boil Circle ¢106.38 Flange, Pilot ¢ 80&High3
2Lk, R $106.38, 111 100, =3
---- 2Bolt&Boil Circle ¢ 109 Flange, Pilot ¢ 70&High6.3
2Lk, % 6109, 1R 70, #56.3
---- 2Bolt&Boil Circle ¢ 109 Flange, Pilot ¢ 80&High6.3
2L A 0109, 111 ¢80, 6.3
---- 4Bolt&Boil Circle ¢106.38 Flange, Pilot ¢ 85&High6.3
AAL7EE L 4P ¢ 106.38, 1R ¢85, 6.3
---- 2Bolt&Boil Circle ¢ 99 Flange, Pilot ¢ 80&High6.3
2fLik>5 S 99, 111 &80, 6.3
---- Wheel Motor 4Bolt&Boil Circle ¢ 147.6 Flange, Pilot ¢ 107.9&High6.3
TR iR afLE A EA ¢ 147.6, 1k $107.9. 6.3
--- Bearingless Motor4Bolt&Boil Circle ¢ 127 Flange, Pilot ¢ 101.5&High6
Tl ikafLik A R 0127, 1EH $101.5. 6

128

2014-10



K BSE" SMS Disc Motors

SMSHEBE il s H ik
C2 ---- Bearingless Motor4Bolt&Boil Circle ¢ 127 Flange, Pilot ¢ 100&High6
oA kALl Ay P RER 0127, 1k 100, 6
C3 ---- Bearingless Motor4Bolt&Boil Circle ¢ 125 Flange, Pilot ¢ 100&High6
TR A SIEASLIBE > R 125, 111 ¢ 100, =6

C4 ---- Bearingless Motor4Bolt&Boil Circle ¢ 125 Rhomb Flange, Pilot ¢
100&High6

TR AR SIEAfLZE L p I 0125, 111 ¢ 100, =6
C5 ---- Bearingless Motor4-M10 (73X73) Flange

T Bik4-M10 (73X73)
C6 ---- Bearingless Motor4-M10 (73.5X73.5) Flange

Tk 5 iE4-M10 (73.5X73.5)
D ---- Brake Motor 4Bolt&Boil Circle ¢ 127 Flange, Pilot ¢ 100&High7

il sh Gikaflik =, rEEE 6127, 1R $ 100, =7
Position 10, 11 ----Output Shaft

9510, 1A% - Al R

01 ---- Rectangle Spline Shaft % JE{tfifi6D-30X25.6X8—32, M8

02 ---- Rectangle Spline Shaft 7 JE{£4f6D-30X25.6X8—32, M14

03 ---- Rectangle Spline Shaft %HJE (L 4l6D-30X26X6—45, M8

04 ---- Rectangle Spline Shaft i /E ¢ 8 416D-30X26X6—32, M8

05 ---- Rectangle Spline Shaft i /E 1t $16D-30X26X6—34, M8

06 ---- Rectangle Spline Shaft i /E 1t $16D-30X26X6—20, M8

07 ---- Rectangle Spline Shaft %z £k #16D-30X26X6—28, M8

08 ---- Rectangle Spline Shaft Jfi 2 £k #16D-30X26X6—32, M8

09 ---- Rectangle Spline Shaft /¥ {t##6D-25.2X20.3X6.1—26.4, 5/16-18UNC
10 ---- Rectangle Spline Shaft #i/E 1t #516D-25.2X20.3X6.2—26.4, 5/16-18UNC
11 ---- Rectangle Spline Shaft JijE4t 5 #16D-25.2X20.3X6.25—26.4, 5/16-18UNC
12 ---- Rectangle Spline Shaft fiJE {£###i6D-25.5X20.3X6—37.5, M8

13 ---- Rectangle Spline Shaft % /&1t 5 #16D-30X26X8—30, M8

14 ---- Rectangle Spline Shaft i JE /L5 HH6D-25.4X21.5X6.25—26.4, 5/16-18UNC
15 ---- Rectangle Spline Shaft %F /¥ {t###16D-25.3X21.3X6.2—23 , 5/16-18UNC
16 ---- Rectangle Spline Shaft % /E{t f#li6D-25.3X21.3X6.2—23 , ¥-20UNC

1209

2014-10



K BSE" SMS Disc Motors

17
18
19
20
21
22
23

24
25

26
27

28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45

SMS it BC it il s ik

----® 32Cylindrical Shaft parallel keyl0X47; @ 32 B4k, F-4#10X47, M8
---- ® 32Cylindrical Shaft parallel keyl0X47 ; @ 32 B4, F5£10X47, M8X1
---- @ 32Cylindrical Shaft ,parallel keyl0X47; ® 32 H#l, T-5£10X47, M10
---- ® 32Cylindrical Shaft parallel keyl0X47; @ 32 E4h, F5£10X47, M12
---- @ 32Cylindrical Shaft parallel key10X35; ® 32 H#li,“F4#10X35, M8
---—- @ 32Cylindrical Shaft parallel key10X35; @ 32 FHih, F4£10X35, M10
---- @ 1.25In Cylindrical Shaft, parallel key7.96X32 ;

® 31.75 HHl, /7 H#7.96X32 ,3/8-16UNC
- @ 1.25In Cylindrical Shaft, parallel key7.96X32;  © 31.75 E %1, J7#7.96X32,M12
---- ® 1.25In Cylindrical Shaft, parallel key7.96X42 ;

® 31.75 Eifill, J55H7.96X42 ,3/8-16UNC
---- @ 1.25In Cylindrical Shaft, parallel key7.96X42; @ 31.75 &%, /5%#7.96X42,M12
---- ® 1.25In Cylindrical Shaft, Two parallel key7.96X32 ;

@ 31.75 H 4,24 75 4#7.96X32 ,3/8-16UNC
---- ® 25Cylindrical Shaft parallel Key8X28; @ 25 4, F-5#8X28,M8
---- @ 25Cylindrical Shaft parallel Key8X28; @ 25 f#li,“T-448X28,M8
---- ® 25Cylindrical Shaft parallel Key6.35X32; @ 25 Ei%h, " F4#6.35X32,M8
---- @ 1In Cylindrical Shaft parallel Key8X28; @ 25.4 4k, F-4#8X28,M8
- @ 1In Cylindrical Shaft parallel Key6.35X32; @ 25.4 /i, ~F#6.35X32,M8
---- @ 1In Cylindrical Shaft Woodruff Key6.35; @ 25.4 H#li, >} [54#6.35,1/4-20UNC
---- @ 1In Cylindrical Shaft parallel Key8X28; @ 25.4 i, F4#8X28,M8
---- @ 22Cylindrical Shaft Key6X40; © 22 %l F#6X40,M8
- @ 30Cylindrical Shaft Keyl0X47; @ 30 Hfl, F4#10X47,M8
---- @ 30 Cylindrical Shaft Key8X28; @ 30 H#ll,“F##8X28,M8
- @ 35Cylindrical Shaft Keyl0X47; @ 35 FHfl, F4#10X47,M8
- @ 32 Cylindrical Shaft Key10X47; @ 32, F#10X47,M10
---- Rectangle Spline Shaft fiJF {¢ i 5l16D-34.85X28.14X8.64—76, M8
---- Involute Spline Shaft #iJF&{ef: m2.5 Z11 a20
---- Tapered Shaft 1:8, parallel key7.96X35 ; #EEE4M11:8, /7 4#7.96X35 , M24X1.5
---- Tapered Shaft 1:8, parallel key7.96X35 ; #ER£5H1:8, /7 4#7.96X35 , 1-20UNEF
---- Involute Spline Shaft #iJF£k{t5: DP12/24 Z14 a30
---- Involute Spline Shaft #iJT4{E5: DP12/24 Z14 a30

30

2014-10



SMS Disc Motors

Position 12, 13

----Port, Case Drain Port

12,130 K -3 A R SE

M22X1. 5 M14X1.5
G1/2 G1/4
Gl1/2 M14X1.5
G1/2 no (o)

M22X1. 5 M10X1
7/8-14UNF 7/16-20UNF
NPTF1/2 G1/4
M20X1. 5 M14X1.5
G1/2 G1/8
M22X1. 5 M14X1. 5
MI18X1. 5 M14X1. 5
M22X1.5 M14X1.5
M14X1.5 M14X1. 5
Gl1/2 G1/4
G1/2 no (6)
NPT1/2 no ()
7/8-14UNF no (76)
M20X1. 5 M14X1. 5
M22X1. 5 M14X1. 5
Gl1/2 3/8-16UNC
2-D13 7/16-20UNF
2-®13 M14X1. 5
A-®13,B-D16 7/16-20UNF
®33.2 no (76)
1-1/16-12UN 7/16-20UNF
M22X1. 5 G1/4

Position 14----Front Drain Port
LA E -t O RS)

no ()

3319

G1/4 3319-04
M14X1. 5 3319-02
M10X1 3319-03
7/16-20UNF 3319-06

31

SMSHFFCI s Ty ik
Position 15 ----Paint
AT WK
0 ----No Paint ARm§%
1 ----Blue WifruEiE#
2 ----Black MihriEmtfl 2B
3 ---- Others, Please Note on PO
FUB SR, T BN
Position 16 ----Specical Features
HAGM T - RPIREEKR
0 ----None
e NEE N
1 ----Viton Shaft Seal
ol b TR R
2 ----Vition Seals
R A AR
3 ----Viton Shaft Seal and Viton Seals
s R R e PR
YSETRE i
4---- Others, Please Note on PO
FUB SR, T BN
Position 17 ----Motor Rotation
L35 e 77 1)
Viewed From Shaft End
TR0 i L Al
A ----Port A Pressurized CW
AT e g, B e
B ----Port A Pressurized CCW
ATERE g, I e

2014-10



